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asym_bcm_an_us (ppb)
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asym_bcm_an_ds (ppb) 1D pull distribution
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution

asym_bcm_dg_ds (ppb)

© 9o o o Z a8 9~ o
g 3 s = I §
s o § +H & O
2 o & ¢« g o
01 170.!
S = N o ]
n W Ho A -
g 3 3 5 ]
g © g —
I=} S -
, $ N
N _ N
3 2 3 s & . A
s &8 § 3 2 & ¢ ¢ E
< 58 5 & % 8 £ 3 E
2
—— -
i
L b 1 N
n o n o n o
N N - —
o0 N
<t ~
-~m
- M ~
Tp} ®
S
o) +I -
2
54 *®
o »-
To) *
I -
.
Py
.
— °
ke °
c °
— °
~n O |
< Q] A4
-
.
-
.
Y
.
-
.
-
®
-
.
-
®
| Y
i
-
°
.

4000

DOITNONT O
OS5 STee



RMS (ppm)

270

260

250

240

230

220

210

asym_bcm_dg_ds RMS (ppm)

T

z

T Y Y A || LI LI LI Ll 111
B B S S g g 5 g b g g S b v 5 4 o g S g s o o 0 65 90,4



1D pull distribution

diff_bpmE (nm)
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diff_bpm4aX (nm)
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asym_usr (ppb) 1D pull distribution
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asym_us_avg (ppb)
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asym_us_dd (ppb) 1D pull distribution
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asym_dsr (ppb) 1D pull distribution
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asym_ds_dd (ppb) 1D pull distribution
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